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QUESTION 1

In which two ways one can automatically index a field within Oracle Document Capture? 

A. Database Lookup 

B. Zonal OCR 

C. Patch Codes 

D. Separator Sheets 

Correct Answer: BD 

 

QUESTION 2

Which two metadata fields are added by Oracle Site Studio to Oracle Content Server? 

A. xWebsites 

B. xWebsiteSection 

C. xWebsiteDate 

D. xWebsitelD 

Correct Answer: AB 

 

QUESTION 3

Which two statements are true about full-text searches in Oracle Universal Record Management? 

A. Text entered without quotation marks returns the word you enter as well its stems. 

B. Text entered in quotation marks returns the word you enter as well as its stems. 

C. Text entered in quotation marks returns only that specific phrase. 

D. Text entered without quotation marks returns only that specific phrase. 

Correct Answer: AC 

 

QUESTION 4

Which is the required object for Oracle Universal Records Management\\'s file plan? 

A. Record Series 

B. Record Categories 
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C. Record Function 

D. Record Folders 

Correct Answer: C 

 

QUESTION 5

Which two statements are true about disabling a criteria workflow in Oracle Content Server? 

A. All documents in the workflow are released 

B. All documents in the workflow are held until the workflow gets re-enabled 

C. New documents are directly released if they do not match another workflow 

D. New documents are going to status Pending until the workflow is re-enabled 

Correct Answer: AD 
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